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Simplify each expression. Assume that all variables are positive. 
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13. A rectangular walk is -F7 m wide and 61-7 m long. What is the perimeter of the walk? 
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Simplify each expression. Assume that all variables are positive. 
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28. V4x —10 = 3Vx-5 

- 	k- 

26. V2x —1 —3 = 0 
3 

27. 3(x +3)4 —$1= 0 

Solve. 

31. A car dealer offers a 20% discount off the list price x of any car. At the same time, the manufacturer 
offers a $1000 rebate for each purchase of a car. 

a) Write a function f(x) to represent the price after the discount. 

b) Write a function g(x) to represent the price after the rebate. 

c) 	Use a composition function to find the price of the car if the discount is applied after the rebate. 
S3i 30 0 	c 



37... f (g (c)) = 36. (g 0 f)(x) = 

39. Find the inverse of the function y = 3x + 1. 
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Let f(x) = x - 1 and g(x) = x2  - 1 	g(x) is factorable! 

31. 	f(x)+ g(x) = 	 33. —2f (x)— g(x) = 

34. 	g(f (2)) = 

f 

%(,)4 	 

40. 40. Find the inverse of the function f(x) = (1 — 2x)2  + 5. 
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35.  g(x) 

f(x) 	• \ — 	 1 



41. Consider the function f(x) = -3x2  +4. 

a) 	Find the inverse of the function. 

b) Graph Graph the function. (label as f(x) ) 	 -1 
c) Graph the inverse of the function. (label as f 1 (x) ) 

d) State the domain and range of the function. 

e) State the domain and range of the inverse. 

f) Is Is the inverse a function? 

t 3 0 

42. Consider the function y = (x — 2)2. 

a) Find the inverse of the function. 

b) Graph the function. 
c) Graph the inverse of the function. 

d) State the domain and range of the function. 

e) State the domain and range of the inverse. 

f) Is the inverse a function? 
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46. Graph the function y = 2Vx —6+ 3 

‘c  '2 V\\` 

•, 43. For f(x) = 8x + 3, find (f l o 0(-4). 
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44. Find the inverse of f(x) = 

45. Graph the function y = 2 J —4 
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47. Find the domain and range of y = 	+ 2 

 

48. Find the domain and range of y = V8x +5 

X 
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49. The graph of y = jc is translated three units to the left and 6 units down. Write an equation of the 
translated function. 

-k• 

   

50. Graph the function y = -06x +108 +4. 
**hint: simplify to make it easier to transformations 
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